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JIRE TS A2 F9o1F || (NG ~ifam*< (31-08-2023)
1. I A QB (AR TARFS? D

(A) T (B) I FCH (C) FolsTga (D) oEIAifea

2. Choose the right idiom for the sentence - 'The things are lying on the table

(A) at six and seven (B) at sixes and sevens (C) at six and sevens (D) in sixes and sevens

3, AW @ GEER S 65% iso octane 8 35% n-heptane E O & fMER -

(A) PTCBeT T74-35 (B) SRCB THY 65 (C) TG T7H-35 (D) B 7¥9- 65
4. WA ICWAIGE 8 SR FEE ¢ FAER A @I T AW G6©? D
(a) fowr (B) g7@ () s (D) *rar
5. The synonym of the word 'pacify" is- D
(A) among (B) displease (C) encourage (D) appease
6. What is the meaning of 'genocide'? D
(A) general destruction (B) killing of a king (C) killing of women and children

(D) deliberate killing of a whole group or race of people

7. (I AN A ST A ALHE 91 (722 B
(A) = (B) @ ©%T (D) 2
8. ERRNT AT ZCS A AW AR A1 fF 2
(A) et (B) #iet (C) =B (D) FféFel
9. An urologist is one who treats the disease of - A
(A) kidney (B) eye (C) heart (D) nerves

10. wferaes gefre «afs Bifer Wit @ 70T & stress Fa FACS 27?2

(A) By B (B) B € (BT (C) BF*M, BT 8 I (D) F=GE 77
11. Our building has been built ___ the new plan. The right word for the gap is - B

(A) accordance to (B) in accordance with (C) for (D) about
12. If I____, I would not give up the job.

(A) were you (B) was you (C) had you (D) had been you
13. NATO &% SN W3 (AR HRYl- A

(A) o5fB (B) woft (©) 25f6 (D) wfe

14. Which of the following sentence is correct?
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(A) Let's go for walk (B) Discuss the matter in detail
(D) Vegetables is my favourite food

15. 52 Ta @22 oIfeRe THtelq it FT -

() 1 (B) <1 (€ »1

16. fo ICH wAe IETACAF ANER A 20 IR TBOS (I F© 2(A?

(A) 90° (B) 60° (Cc) o°

17. @33 I @*eF oo SfeTa wwel (IGE 2fea wFeld Qe -
(A) (B) % (C) =9

18. (I SIFN@R A g FAGE @A?
(A) 4°F (B) 0°F (C) o°C

19. e & oAfawe Siot Fics el aw?

(A) 25% (B) 35% (C) 45%
20. 07 @G ITEAET QIS T2
(A) e 2o (B) IFENIZEA (c) e s ©ig

21, FIETRIBG € AT (FCE AN Ol [N g T fofa ol

(A) o°C (B) 100°C (C) 4°C

22. (PG IAGIL JIFES IO T2

(A) oot (B) At (C) A=l
23. 0°C OIANI@R i GEH F©?

(a) o (B) -1° ©) 1
24, W8 Nt 791 AV ecees T 28 [gphs 26 -

(A) Plasticity (B) Fatigue (C) Resilience

25, N AGST Al (FH05?
(A) GTEe (B) T (C) =@

26. Make a tag question of the sentence - 'I need some books', _ ?

(A) doI (B) don't I (C) need
27. O3 59 @EfFEEE e F @R
(A) 210KJ / min (B) 21KJ / min (C) 420K]J / min

28. Translate the sentence in English 6 €3 J6® @S I
(A) Live and let to live (B) Live and give (C) Live and let live
29. 'The green eyed monster' means -

(A) hatred (B) love (©) live
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(C) They raised hue and cry

(D) 55%

(D) JIF2AGER

(D) - 40°C

B

(D) R

(D) 2

(D) Creep

A
(D)

B

(D) needn't I

(D) 500KJ / min

C

(D) Live and give live.

D

(D) jealousy
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30, AT (¥4 JfGIF TR @ @R (A4 T @ F© A @ 272

(A) >deR (B) >5¢8 (C) s5@©
31. G AL F© A TSR @ 97 oA TfFs 272

(A) 2008 Al (B) 0d0 At (C) 0>y Al
32. 'GIRE 8 ATASTF ABIS!' (I (A A2

(A) TART (B) eI%arg (C) G

33. “PDICS T T @' U <Y ALPIO (-

(A) *PBroanSt (B) & (C) SIS
34, (3 IFT Y AR oif® =@t Feq =i AfFgs =ife T F41 =7 O 0 -

(A) @GR (6 (B) GPI-BreIze (ORHISERIERIES]
35. QRAITW AT 2L I (FAAG?

(A) TR e (B) frefs SiaF fofia (€) Fm= gl

36. The passive form of the sentence ''Shoot the tiger' is -

(A) Let the tiger be shoot. (B) Let the tiger be shot. (C) Let the tiger be shooted.

37. IHIAT aFites WeifEs vy A I<9ze 23 -

(A) Hydrometer (B) Hygrometer (C) Anemometer
38. *Widd 8¢ SIS & 2F-
(A) =BT (B) girerstt () =19

39, T2 JETRBICE TSI ARG (T F© THI GBS TR f2er?

(A) Q 99 (B) > T¥ €) b T
40, "SR FRy SFIHC 27 F© ATA?

(A) 5290 (B) >»20 (C) 552

41, 'DICAR TR T @A ToAI?

(A) ST S T (B) firmrat =T (C) O T T
42, ‘fFe' *Itwa s *= @62

INREES) (B) © (ORSISES)
43, ¢F (GF weife 2o -

(A) 746 Watt (B) 736 Watt (C) 550 Watt

44, Punch @ die G @ AE JSFI TS FACS (I FHTI JIZ© 2A?

(A) Shearing (B) Pierching (C) Punching

45, (FA0 AT TYCEE (7 TA?
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(D) 35@d

(D) Q032 AT

(D) W&

(D) “PBIRaTS

(D) S 2%

(D) A TR

B

(D) Let the tiger be shoted.

(D) Multimeter

(D) 92

D
(D) PTV eAATHZT

A
() Fge

(D) 75 Watt

(D) Blanking

C
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() foCffra (B) wHeTCEEIl (C) weTCafra (D) st
46. T BIRRIZS (Gheeied fofe =ee -

(A) FfEe AR (B) SCBT AIRCFeT (C) “hear e (D) GG AR
47. The antonym of gloomy is- D

(A) proud (B) sad (C) unhappy (D) cheerful
48, TETOCR TGS e T @iey fera T 7T 20 2I- C

(A) o 3I=T (B) 8o d=d (C) & I=d (D) wo I=F

49, e Bifbe b (5al 27 -

(a) e (B) «f (C) =% (D) Mifse
50. Select singular number- A

(A) news (B) crises (C) cattle (D) media
51, M TR TSl (N =42

(A) 50-60% (B) 40-50% (C) 70-80% (D) 100%

52, o9 @Al 1 3fecTa e T T2

(A) Fuel pump (B) Governor (C) carburetor (D) Fuel Injector

o

53, O (B @ &+t - ' ' @9 I @9 [efe? D

o o o

(A) SR FRCE gorl [RefE  (B) FAIFHE worl o (C) F(FRcE goll RefE (D) @i T wor [ofe

54, TR e SMfReeR famfa w31 @=iG?

(A) (T=eF WiAfe (B) v*m (C) TRy (D) AFFre
55. (G (&6 P NI 77© 2?2 C
(A) CoIEGr (B) foree (©) It (D) @=ife
56. (PICIfEEeT sea - C
(A) 3= difite (B) =alt® (C) e *frem (D) e

57. Inline 4 cylinder IC 2f&= FRIfHR wCH @AG?

(A) 1-3-4-2 (B) 1-2-3-4 (C) 1-2-4-3 (D) 1-3-2-4
58. OMR @3 (@~ (@ADG? A
(A) Optical Mark Recognition (B) Optical Mark Reading  (C) Optical Mark Receptor (D) Optical Mark Reactor

59. GI(0 SCOIHEE (SI) AT A6 FATS 5.66 e, OIAY TFel F©?

(A) 50% (B) 80% (C) 75% (D) 45%
60. W T e effofafy sifaame 5w e 20w B
(A) 8¢ & (B) 89¢ &« (C) 8vo &9 (D) @o¢ &=
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61. The word 'lunar' is related to -

(A) earth (B) sun

62. 3fecE IBI5 T4 T FEWE F© AAAGY ATAG T2

(A) 50 rpm (B) 100 rpm

63. Gifeead e “faama Ao (e Aedi-

(A) s¢f6 (B) 8%
64. AT FHICS &9 @fe 7ze =772
(A) 712G (B) A=fFefas

65. '3 #TT BI7@ F7F 1" I BI9F B (P A fawele?

() faoeaa (B) Ry
66. a AR M8 W fagred @ @ I”RF ANTHF SHFH -
V3a
(4) = (B) 2v/3a

67. IfolreR ReE & ite @S (Iwesd W9 -

(A) T (B) FHfH

68. Identify masculine gender

(A) mare (B) milkmaid

69. Select the correctly spelt word

(A) receive (B) recieve

70. “VleETeE! LM AL FeAAite FAB?
(A) ¢f5 (B) 86

71, ARIRFOR AT WOEF (FIA0 AGF 2
(A) Wiay = Waas

72. *Ife@ pH @3 TF F© T @R FIR F9A 277

(A) 9 (B) 14

73, 'qRIIMR' @ FIPT?

(A) J=912 (B) T4
74, YIARANS LTF CFCG (0 AGF?
(A) M=1 (B) M<1

75. CETE FPICA #Hiferal o1 -
(A) 3= (B) & =7

76. FEEEA (FI Fiq TAK?
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(B) wivi = wovy
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(C) moon

(C) 200 rpm

(C) >of5

() TRy

© 35

(©) v
(C) ram

(C) recive

(c) of%

(C) a1 /v1 = az/ va

©) 1

(D) star

(D) 5 rpm

A
(D) suf6

(D) “FeFs

C
(D) feat

(D) 3v2a

(D) =62 T

C

(D) goose

A

(D) reicive

B
(D) o5

(D) a1 vi = azvy

(D) 7

A
(D) &Mt ==

(D) M=4

B
(D) =62 77

A
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(A) TF7E (B) ©IFob™ (C) T 5&MM (D) fw=ifs
77. QR MR TN QY (I A2 D

() foramar= (B) ez (C) Frrem (D) &%
78. IR O R W G KRR 2@ fewer- D

(A) @A ST (B) gt <<t (C) sfrrEfine orzam (D) wIgeT T
79. @3f6 BRAME 175/65R-14 82-S MCA &AM FACT OF aspect ratio F?

(A) 175 (B) 65 (C) 14 (D) 82
80. (SR @ T Vg IRCAA TIP (F? C

(A) TR SAPe (B) @I<TgeT 212 (C) 2R =I=C™ (D) =g A
81. WM &R (L@ Ao e F© RAb® 27 - A

(A) 0 (B) 1 @) 2 (D) 4
82. The boy was charged ____ theft. The right word for the gap is ____.

(A) at (B) with (C) for (D) by
83. Gl HIEHA Aol -

(A) FIE6 DI (A @ (B) TR0 BL&A (ATF TN (C) FR6 BL&a NI (D) B2 T
84, YIR® IXE FADG water level Indicator ACH?

(A) 1 (B) 2 © 3 (D) 4
85. (TG ergeliee ZM T Age T D

(A) “TRIE=F (B) TRETIE (ORECILIS (D) A=
86. PIRIT G5 @ PRI CHITR AT 2E-

(A) e @f*s (B) A% A (C) wga w9 fafsfet (D) Vg™ 91 TAINFGH
87. (I T A 7foe & T2 D

(A) @FrerE@d el (B) FIPIER AN QT (C) T ~i12q (D) oify fqem ez
88. T75% Bfer &I AZFH APAE B2

(A) CEI AZEA (B) et 3we (C) T AR (D) WET (Rankine) M3
89. "IN (P ST X7 A

(A) o (B) fife () refre (D) =ity
90. (I = SIea™ 1 T2

(A) (B) AT (C) Qe (D) frm==
91. (I (e TTeITs wfow e <o 27 B

(A) Tl (B) TG (C) wsfify (D) (AT
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92. 'The man died ___ suicide.' Fill in the gap with an appropriate preposition.

(A) of (B) for
93, ASNTS! (A (M (PG SOII?
(A) feBifE-9 (B) =24

94, SIGFOIR (A G T IIZ© T TS 8 GeAfea Tore F?

(4) 6:1 (B) 12:1
95. Who of the following is a novelist ?

(A) william Blake (B) Charles Dickens
96. "SI (AL ARG WL FI?

(A) ST S (B) IAPTNCA Sl
97. 'IAEF TG AT (LF2B FN?

(A) IfeTm (B) @r=rersi

98. (G FITOIAR 3770 Tz 77
(A) e (B) fF-@r¢

99, (AT (¥ @FSCEB0 IJIZT© TA?
(A) CO, (B) F-11

100. NB is the abbreviation of -

(A) Not before (B) Never But
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(€)15:1

(C) G. B. Shaw

(C) =R &7«

(C) ole @ATTAET

(c) fard=

(C) F-12

(C) Nota Bene

(D) John Keats

A

(D) &I fomt

D
(D) o AICwLeT

(D) F_I=

(D) Air

C

(D) Note Bone
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